RIGOL

To Use the Rack Mount Kit

This oscilloscope can be mounted in a standard 19-inch rack cabinet that conforms to
the Electric Industrial Association (EIA) standard. If needed, please buy and install
the corresponding option.

Kit Parts List

No. Name Qty | Part No. Description
1-1 Front 1 RM-DS-6-01
Panel
1-2 Support 1 RM-DS-6-02
Board
1-3 Left Plate | 1 RM-DS-6-03
1-4 Right 1 RM-DS-6-04
Plate
1-5 Fixed 2 RM-DS-6-05
Figure
2-1 M4 Screw | 24 RM-SCREW-01 | M4 x 6 Phil-Slot Pan Head Machine
Screw Nail
2-2 M6 Screw | 4 RM-SCREW-02 | M6 x 20 Phil-Slot Pan Head Machine
Screw Nail
2-3 M6 Screw | 4 RM-SCREW-03 | M6 x 4 Square Machine Female
Screw Contain Lock Blade

1-30 DS6000 User's Guide



RIGOL

Installation Tool

PH2 Phillips Screwdriver (recommended).

DS6000 User’s Guide 1-31



RIGOL

Installation Space

The following requirements must be fulfilled by the machine cabinet in which the
instrument is mounted.

® The machine cabinet must be a standard 19-inch one.

® At least 6U (266.7 mm) space should be provided by the machine cabinet.

® The depth inside the machine cabinet should not be less than 400 mm.

The dimension of the instrument after being installed is shown below.

|

2667
L ]
2069

00000000
@00000000

7765

1-32 DS6000 User’s Guide



RIGOL

Installation Procedures

Only authorized operators can execute the installation operation. Improper
installation might result in damage of the instrument or incorrect installation of the
instrument on the rack.

1. Install the right and left plates: align the detents of the right and left plates with
the openings on the support board and insert them into the support board
respectively, then fix them with six M4 screws.

2. Place the Instrument: press the button above the battery on the instrument to
remove the battery. Then align the instrument with the spacing on the support
board and place it on the support board.

DS6000 User’s Guide 1-33



RIGOL

3. Fix the instrument: fix the instrument on the support board with two back
battens and twelve M4 screws.

4. Install the front panel: align the screw holes on the right and left plates with the
screw holes on the front panel of the rack and let the front panel of the
oscilloscope protrude from the opening. Then fix them with six M4 screws.

1-34 DS6000 User's Guide



RIGOL

5. Load into the machine cabinet: mount the rack with the instrument fixed to it
into a standard 19-inch machine cabinet with four M6 screws and four M6 square
nuts.

6. Post-installation notice: the rack occupies a height of 6U. The holes pointed out
by the arrows are installation holes. Note that they should be aligned with during

installation.
O o) o
O ol o
0 ol o
O ol o
0 0| o
a ol B
o ol o
O 019 -
@e N o®
© L goooo ¢ ,,,éj,.g _
o 0o ]
[s] oo (m]
[a] oo ]
AR
O
® ® 8 ’%’
0
0
]
0
) L) L)
(©) 3
@e O ]
n| 0 8 -
O ol o
O 0| o
0 ol B
O 0| o
O o o
0 ol o

DS6000 User’s Guide

1-35



	Guaranty and Declaration
	Safety Requirement
	General Safety Summary
	Safety Terms and Symbols
	Measurement Category
	Ventilation Requirement
	Working Environment
	General Care and Cleaning
	Environmental Considerations

	DS6000 Series Overview
	Document Overview
	Quick Start
	General Inspection
	Appearance and Dimensions
	To Prepare the Oscilloscope for Use
	To Remove the Cover
	To Adjust the Supporting Legs
	To Connect to AC Power Supply
	To Use the Battery
	Power-on Inspection
	To Connect the Probe
	Function Inspection
	Probe Compensation

	Front Panel Overview
	Rear Panel Overview
	Front Panel Function Overview
	VERTICAL
	HORIZONTAL
	TRIGGER
	Run/Stop
	Single
	Auto
	Knob
	Navigation Knob
	Menu
	Record
	MEAS
	Clear
	Print

	User Interface
	To Use the Security Lock
	To Use the Desk Mount Instrument Arm
	To Use the Rack Mount Kit
	Kit Parts List
	Installation Tool
	Installation Space
	Installation Procedures

	To Use the Built-in Help System

	To Set the Vertical System
	To Enable the Channel
	Channel Coupling
	Bandwidth Limit
	Probe
	Input Impedance
	Waveform Invert
	Vertical Scale
	Vertical Expansion
	Amplitude Unit
	Channel Label

	To Set the Horizontal System
	Delayed Sweep
	Time Base Mode
	Y-T Mode
	X-Y Mode
	Roll Mode

	Horizontal Scale
	Horizontal Reference

	To Set the Sample System
	Acquisition Mode
	Normal
	Average
	Peak Detect
	High Resolution

	Sample Mode
	Real-time Sample
	Equivalent Sample

	Sample Rate
	Memory Depth
	Antialiasing

	To Trigger the Oscilloscope
	Trigger Source
	Trigger Mode
	Trigger Coupling
	Trigger Holdoff
	Trigger Type
	Edge Trigger
	Pulse Trigger
	Slope Trigger
	Video Trigger
	Pattern Trigger
	RS232 Trigger
	I2C Trigger
	SPI Trigger
	CAN Trigger
	USB Trigger

	Trigger Ouput Connector

	To Make Measurements
	Math Operation
	Addition
	Subtraction
	Multiplication
	Division
	FFT
	Logic Operation
	Advanced Operation

	Auto Measurement
	Quick Measurement after Auto
	One-key Measurement of 22 Parameters
	Frequency Counter Measurement
	Measurement Setting
	Clear the Measurement
	All Measurement
	Statistic Function
	Measurement History

	Cursor Measurement
	Manual Mode
	Track Mode
	Auto Mode


	Protocol Decoding
	Parallel Decoding
	RS232 Decoding (Option)
	SPI Decoding (Option)
	I2C Decoding (Option)

	Reference Waveform
	To Enable REF Function
	To Select REF Source
	To Save to Internal Memory
	To Adjust REF Waveform Display
	To Export to Internal or External Memory
	To Import from Internal or External Memory

	Pass/Fail Test
	To Enable Pass/Fail Test Function
	To Select Source
	To Create Mask
	Test and Output
	To Save the Test Mask
	To Load the Test Mask

	Waveform Recording
	Waveform Recording
	Waveform Playback

	Display Control
	To Select the Display Type
	To Set the Persistence Time
	To set the Waveform Brightness
	To Set the Screen Grid
	To Set the Grid Brightness
	To Set the Menu Display

	Store and Recall
	Storage System
	Storage Type
	Internal Store and Recall
	External Store and Recall
	Disk Management
	To Select File Type
	To Create a New File or Folder
	To Delete a File or Folder
	To Rename a File or Folder
	To Copy and Paste a File
	To Clear the Local Memory

	Factory

	System Function Setting
	Remote Interface Configuration
	LAN Setting
	USB Device
	To Set the GPIB Address

	System-related
	Sound
	Language
	System Information
	Power-off Recall
	System Time
	Self-calibration Information
	Screen
	Error Information
	Self-calibration
	Power Status
	External Trigger Impedance
	Aux Output
	Reference Clock
	Option Management

	To Print the Waveform
	To Connect the Print Device
	Normal Print
	PictBridge Print


	Remote Control
	Remote Control via USB
	Remote Control via LAN
	Remote Control via GPIB

	Troubleshooting
	Specifications
	Appendix
	Appendix A: Options and Accessories
	Appendix B: Warranty
	Appendix C: Any Comment or Question?

	Index



